

Да се најде извод на следните функции:

$$1. a) \quad y = 3x - 7 \quad y' = (3x)' - (7)' = 3 \cdot (x)' - 0 = 3 \cdot 1 - 0 = 3 \quad \bullet$$

$$b) \quad y = 3x^2 + 4x - 5 \quad y' = 3 \cdot 2x + 4 \cdot 1 - 0 = 6x + 4 \quad \bullet$$

$$c) \quad y = 8x^4 - 7x^3 + 6x^2 - 5x + 6 \\ y' = 8 \cdot 4x^3 - 7 \cdot 3x^2 + 6 \cdot 2x - 5 \cdot 1 + 0 = 32x^3 - 21x^2 + 12x - 5 \quad \bullet$$

$$d) \quad y = x - \frac{x^2}{2} \quad y' = 1 - \frac{1}{2} \cdot 2x = 1 - x \quad \bullet$$

$$2. a) \quad y = \frac{x}{\sqrt[5]{x^2}}$$

Прво ја запишваме дробната функција како степенска

те:

$$y = \frac{x}{\sqrt[5]{x^2}} = \frac{x}{x^{\frac{2}{5}}} = x^{1 - \frac{2}{5}} = x^{\frac{3}{5}}$$

$$y' = \frac{3}{5} x^{\frac{3}{5} - 1} = \frac{3}{5} x^{-\frac{2}{5}} = \frac{3}{5} \cdot \frac{1}{x^{\frac{2}{5}}} = \frac{3}{5} \cdot \frac{1}{\sqrt[5]{x^2}} = \frac{3}{5\sqrt[5]{x^2}} \quad \bullet$$

$$b) \quad y = x + \frac{1}{2x^2} - \frac{1}{4x^4}$$

$$y = x + \frac{1}{2} x^{-2} - \frac{1}{4} x^{-4}$$

$$y' = 1 + \frac{1}{2} (-2) x^{-3} - \frac{1}{4} (-4) x^{-5} = 1 - \frac{1}{x^3} + \frac{1}{x^5} \quad \bullet$$

$$c) \quad y = \frac{1}{x^2} + \frac{2}{x^3} - \frac{3}{x^4} = x^{-2} + 2x^{-3} - 3x^{-4}$$

$$y' = -2x^{-3} + 2 \cdot (-3)x^{-4} - 3 \cdot (-4)x^{-5} = -\frac{2}{x^3} - \frac{6}{x^4} + \frac{12}{x^5} \quad \bullet$$

$$3. a) y = (x-1)(x^2+1)$$

$$y = x^3 - x^2 + x - 1$$

$$y' = 3x^2 - 2x + 1 \quad \bullet$$

$$b) y = \underbrace{3x^4}_u \cdot \underbrace{\operatorname{tg} x}_v$$

$$y' = (3x^4)' \cdot \operatorname{tg} x + 3x^4 \cdot (\operatorname{tg} x)' = 3 \cdot 4x^3 \operatorname{tg} x + 3x^4 \cdot \frac{1}{\cos^2 x} =$$

$$= 12x^3 \operatorname{tg} x + \frac{3x^4}{\cos^2 x} \quad \bullet$$

$$b) y = \underbrace{(\sin x + \cos x)}_u \cdot \underbrace{e^x}_v$$

$$y' = (\sin x + \cos x)' e^x + (\sin x + \cos x) (e^x)'$$

$$y' = (\cos x - \sin x) e^x + (\sin x + \cos x) \cdot e^x$$

$$y' = \underline{\cos x e^x} - \cancel{\sin x e^x} + \cancel{\sin x e^x} + \underline{\cos x e^x}$$

$$y' = 2 \cos x e^x \quad \bullet$$

$$c) y = \operatorname{tg} x + x \operatorname{ctg} x$$

$$y' = (\operatorname{tg} x)' + \underbrace{(x \operatorname{ctg} x)'}_u \cdot \underbrace{1}_v$$

$$y' = \frac{1}{\cos^2 x} + (x)' \operatorname{ctg} x + x (\operatorname{ctg} x)'$$

$$y' = \frac{1}{\cos^2 x} + 1 \cdot \operatorname{ctg} x + x \cdot \frac{-1}{\sin^2 x}$$

$$y' = \frac{1}{\cos^2 x} + \operatorname{ctg} x - \frac{x}{\sin^2 x} \quad \bullet$$

$$4 \text{ a) } y = \frac{5x-2}{4x+7}$$

$$y' = \frac{(5x-2)'(4x+7) - (5x-2)(4x+7)'}{(4x+7)^2} = \frac{5(4x+7) - (5x-2) \cdot 4}{(4x+7)^2}$$

$$= \frac{\cancel{20x} + 35 - \cancel{20x} + 8}{(4x+7)^2} = \frac{43}{(4x+7)^2}$$

$$5) \quad y = \frac{1 - \sin x}{1 + \cos x}$$

$$y' = \frac{(1 - \sin x)'(1 + \cos x) - (1 - \sin x)(1 + \cos x)'}{(1 + \cos x)^2}$$

$$y' = \frac{-\cos x(1 + \cos x) - (1 - \sin x)(-\sin x)}{(1 + \cos x)^2}$$

$$y' = \frac{-\cos x - \cos^2 x + \sin x - \sin^2 x}{(1 + \cos x)^2} = \frac{-\cos x + \sin x - (\cos^2 x + \sin^2 x)}{(1 + \cos x)^2}$$

$$y' = \frac{\sin x - \cos x - 1}{(1 + \cos x)^2}$$

$$6) \quad y = \frac{e^x - 1}{e^x + 1}$$

$$y' = \frac{(e^x - 1)'(e^x + 1) - (e^x - 1)(e^x + 1)'}{(e^x + 1)^2}$$

$$y' = \frac{e^x(e^x + 1) - (e^x - 1) \cdot e^x}{(e^x + 1)^2} = \frac{\cancel{e^{2x}} + e^x - \cancel{e^{2x}} + e^x}{(e^x + 1)^2}$$

$$y' = \frac{2e^x}{(e^x + 1)^2}$$

$$v) y = \frac{x e^x}{\sin x}$$

$$y' = \frac{(x e^x)' \sin x - x e^x (\sin x)'}{\sin^2 x}$$

(за $x e^x$ избѡрото
применуване
правило за избор от
производен)

$$y' = \frac{(x' e^x + x (e^x)') \sin x - x e^x \cos x}{\sin^2 x}$$

$$y' = \frac{(1 \cdot e^x + x e^x) \cdot \sin x - x e^x \cos x}{\sin^2 x}$$

$$y' = \frac{e^x \sin x + x e^x \sin x - x e^x \cos x}{\sin^2 x}$$

$$g) y = \frac{e^x + \sin x}{x e^x}$$

$$y' = \frac{(e^x + \sin x)' \cdot x e^x - (e^x + \sin x) (x e^x)'}{(x e^x)^2}$$

$$y' = \frac{(e^x + \cos x) x e^x - (e^x + \sin x) ((x)' e^x + x (e^x)')}{x^2 e^{2x}}$$

$$y' = \frac{x e^{2x} + x \cos x e^x - (e^x + \sin x) (1 \cdot e^x + x e^x)}{x^2 e^{2x}}$$

$$y' = \frac{x e^{2x} + x \cos x e^x - (e^{2x} + \sin x e^x + x e^{2x} + x \sin x e^x)}{x^2 e^{2x}}$$

$$y' = \frac{x e^{2x} + x \cos x e^x - e^{2x} - \sin x e^x - x e^{2x} - x \sin x e^x}{x^2 e^{2x}}$$

$$y' = \frac{x \cos x - e^x - \sin x - x \sin x}{x^2 e^{2x}}$$

$$y' = \frac{x \cos x - e^x - \sin x - x \sin x}{x^2 e^x}$$